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Rayleigh curve
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Rayleigh curve
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gooooooo,0obo,b0boboooogooo,coboobD qyOODO,

8
Mi=—-0(n=123:) (3.4.5)

ooooooodb.n=2,3, 400000000 OO 3470000000
oo0o0.0b00,0000n00oD,0b00f0d Re=700000,A=2,4000
oooobooboboo,x=267T0000000000000D00DO0O0DOO.0OO
goo,034900+00000000D0O0ODDOODODDOODLDDODOODOOO
go.

gobo,00goboogobbodbbogboboobobooobboobbda
g.0bgbboboobuog rOODDODO 348000,

L]

608

baee

488

Joe

208

188

0348 Re=70000000000000 pOOOOOD.ODO0O,00000 ¢,
oo rpobooooo.

0348 00,¢t=1500000 EO0O0O0OOO0O,O(102) 00 O(10% 00
0,000,0000000000.00,000000000000000000,
0000 ¢+=000 FO0DO0O000OOOOOOO000000,E000000
0000.00000,0000000000,Re=7000000000,0000
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gbooobgobgo.bobod, Re=60000000000 POODOODOO
gboobOo,o<t<L800buboobdn, Re=6000 Re=7000000 EO
gbooobgs349000.000,Re=60000000000000, Ra =700
gogbboboooboboogooo.

le+B04 T T T T T

le+Ba2

le+0808

le-8082

le-8684

le-B086

le-B083

le-8108

le=-812 |

le-814

0 349 Rae=6000 Re=70000000000000 FODOOOD.ODOO,
Ra=600000, Re=700000000.

03490000, Re=700000, 00000 ¢t=00000000000
gogbobobodg.od 2000boobo,0bogggbboboooooobobodad
ggbbbuooogobbboooobbboooobn.
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3.5 UOOOoooga3

gbog,00boobbd Re=7000 0000000, 000000000
gbooobboobooboobbooboobobo.boob,boobobon
gbboogoob,ogbboobobogbooboobboobooboboonobg.

b, Re=80000000000.000,0000000000,330000
gogogobobooob.ogobobbbobbbbodgg t=20000000 3.5.10
gogo.

Tenperature

=~ J-~R-~]-~1--F ]
- o
M hoo

=
[,
na
L4
£
o
o
~
==}

0 3510 Re =800 000000DO0O0OO0ODOO0OOOLO.OO0DO,t=20000
go.

gbooboobbooboob+=200000000000000000
0"?200000000,000000000000000,0000000000,
Re=70000000000, x=2650000.

ooooo,

Ra = 900, 1000, 2000, 3000, 4000,
5000, 10000, 20000, 50000

gooooobobobooo.ooobbobbbboodd, Re =900 0000
0 t=10, Re = 1000 O0O00O0 ¢t =5, Ra=2000 00000 ¢t =2, Ra =
3000, 4000, 5000 OO OO0 ¢t =1, Ra = 10000 OOOO0O ¢t = 0.5, Ra =
20000, 50000 DD OO0ODO t=04000000 351100 3.519000.

“2NQooD000000D0000D0 90000000,
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Tenperature

1 . 1
a.8
8.6
! . ! . 8.4
| " a,2

a a

a 1 2 3 4 H] [ Fi 8
H

0 3511: Re =900 0000000000000 0O0O0.O000,t=10000
oo.

Tenperature
1 -
) lIlIiIIliiiiIilIlillIIIIlIiIIl!IiiII!IIiilllllliill!""'illlilll ﬁ::
a .
a 1 2 3 4 ] ] 7 8

H

-~R-~N-=R--T--N
Mhomo

0 3512 Re =1000 D00 0OD0OOO0O0ODOOOOODOO.O0O0,t=5000
oo.

Tenperature

1 1
a.8
8.6
] 8.4
a2

a a

a 1 2 3 4 ] i1 7 8
e

0 3513 Re=2000 000 0000000O00O0O0ODOO.O000,t=2000
oo.
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Tenperature

1 - - 1
| " 8.4
8.6
8] | | a.4
- : a2

;] a

a 1 2 3 4 H] ] F 8
H

0 35.14: Re =3000 D00 0ODOOO0O0ODOOOOODOO.OD0O,t=1000
oo.

Tenperature

1 - 1

. . a,

| a,

N a.

- a,

a a
a 1 2 3 4 9 ] 7 8

s

= N ]

0 3.5.15: Re =4000 D00 0ODOOO0OODOOOOODOO.OD0O0,t=1000
oo.

Tenperature

1 1
8.8
8.6
8] 8.4
a2

a a

a 1 2 3 4 1 6 7 8
X

0 3.5.16: Re =5000 D00 0OD0OO0OO0OOOO0OODOO.O000,t=1000
oo.
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Tenperature

1 T T T T T 1
8.8
| i - | 8.6
] ! | a.4
a L I ] 1 . Lo 3.2

a 1 2 3 4 ] 6 7 8
X

0 3517 Re=10000 000000000 OOODOOOO.ODO0O0,t=05000
oo.

Tenperature

pSesnssese

b

Mmhomoa

0 3.5.18: Re=20000 000000000 0O0OOO0OO.ODO0O0,t=04000
oo.

Tenperature

1 T T : T T _ 1
i i 8.4
8.6
™ A a.4
a B 1 | . _1; L J 1 1 3.2

a 1 2 3 4 L] ] 7 8
b

0 3.5.19: Re=50000 0000000000 0ODOO0OO.ODO0O0,t=04000
oo.
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Re=8000000000,000000000000OOO0DODOODODOODO
goob,ggoobbobobbddgoogo. gggogoboobbbouoooad
gobbobuoogobbodgds2ouud.gogbobuoooobobo,

(k2 4 m2)°
k2

googuoubu,gguuoobobbobbbodoooouguoobbbbbbodoodoo
goo.

Ra > (3.5.1)

Rayleigh curve
1.0800e+808 ¢ T T T T

1.0880e+887
1.888e+086 [

1.8688e+885 |

Ra

1.0080e+004 [

1.888e+883 [

1.d808e+802 L L L L

0 3520 D0dpoboogobogobogobboo,gbbuoonobog bd
ggbobooo.obuooboboboo+bbooaobo.
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40 UOU

ggob,gggobbbobbtbouooogobbobobbooooa,bougd
gogoobbobobobodoooooobboob,oobbobobbbooooo.ogd
g, gggobbogoobob,bboodgbbbuooobobobuooooboobood,
gogboboboooobood.

4.1 UO00O0OO0OO0OOOOOOOOO

l3gboboboooooobobobobobobo.oob,obobobg
googobbogobboogbbogbobbooobbooo,obboobobod
2000000000D0O0O0DOODD.ODOOO,0D0DbO0ODbO0ObODbDO
gogbobuogoobobobuoo.ogoo,ggbobooooboobog.

2100000000000 000000ODOCOOO0OUOOODOO, (2.1.11¢)

oo,

%—Ff: + (u - V)T = kV°T (4.1.1)

000.00 70000 7300000000 770000,
T=Ts+T (4.1.2)

00000000, (4.1.1) 0,

oT
YT —u V(T +T)+ sV (T +T)

=(Tg+T)V-u' -V -{(Tg+THu'}+V - {cV(Tg +T")}
=-V- {(TB + T’)'u/ - KV(TB + T’)} (413)

000000.000,00000000 (224a) 0000. (4.13)0 {} 000
00000 1000000000000000000000,0 2000000
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0000000000000000.0000,0000 Q,Q, 0000,

Q1= (Tg + T (4.1.4a)
Q2= —rV (I + T (4.1.4b)

000.000,0000000000000000000000,Q,, Q.0 20
00000000.0000,0000 Qu, Q.. 0000,

Q.= (T +T)w=—(Tp + T’)g—f (4.1.5a)
ol + 1T o1’
Qaz = —m% =K (F ~ 3, ) (4.1.5b)

goo.ooo,goguouououououogd.
r=dx,,0 z =dz,,0¢ = ki,,0 Tg = I'dTg,,
2

d
T/ = FdT;, |:| t = ;t*, D le = FJFle*; D Q2z = K/FQZZ*'

0000 (415a), (41.5b) 000000,

K Oy
O
S Qo = —(Tp + T7) D2, (4.1.6a)
k[Qo.y = kI (1 — 8T*)
0z,
o1’

f=1—-—=—= 4.1.

A QQZ az* ( Gb)

oo, gobobbo,ogoboobgoobgoobobbob.

00000 (m,n) 00000000000 :00000000000000O
ggboo,0bobuoooobob ¢gubbog.

— |le* + Q2z*|
Q2z*

gm,n) 0,000 (mn)00,0000000000000000,000000
00000000000000.000,000000000000,¢=1000
000000.¢00000000000000000000,QO0000,

q(m,n) (4.1.7)

Q- %—Zf - %Zq(m,n) (4.1.8)
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oboobooboobo.ooo, NODODODODOOOOD.QO,000000
goooooboooooobo.oboboobooboobobooboOo,Uuboo
oopbooooo,0b0bdbd ReOODOUODL,QUOLDO0OLODOOODOOD.O
gogbobuogooboboood.

00,000000000000,00,0000,0000000000, Qu.,
Q.. 0000, (41.7) 00000000 ¢(m,n) 0000.000000 (4.1.8)
0000000000,QO0000.00,000000000000000,00
D:=100000-,=0000000000000000000000%.00,0
0000000000 QOOO00000,0000000000000000 Q
00000.0000,00000 Thee 0000000000

e OO UOOOODLDOD,DDODLDOOUOOOO0OLODODLDDODOOOOOOnOD
O.00,000000000DL,00b0b00b0 UOOOODOoDOD.

e 0,00, 00D000DOD0DLO TwOOODLO.OODOODOODO
goboboodoob 1g0obbooobo,bu0o 1booobboodgbo
gobboooooon.

e 00,0000000000000CO0O0O0DOOO0OOOOODOONOOO
00000 wee, L00000 0<2<1000000000,0000 2
000.0000,00 Ty O,

Ty =

(4.1.9)

wmax

ogooood.
e QUOOOODOD Thean O,
Tmean Z TW (4110)

gobooooooooo.obo,obboobbooboooobooooooD
gogbobooogoon.

0D0000000000000000 Re,000000000000000O00
0 Tw, 0000000 T, 000,Q000000000000000000
0000000000000,

lDpD,000000000000,00 10000000000000000, 200000
00 Q... DO0D0DODOOOODOO.
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O000D0 Re | 0000000 Ty |D000000 Then | O0O0OOO

600 26258205.6 - -

700 0.720086577 1 29 <t <30
800 0.381183204 1 19 <1 <20
900 0.287281133 1 9<t<10
1000 0.237960513 1 4<t<5

2000 0.106378891 0.2 1.8<t <2
3000 0.0749438474 0.1 09<t<1
4000 0.0587383562 0.1 09<t<1

Re=60000000000000 Ty OOOOOOO,0(108) 0000000
00000.000,000000000000,0000000 Then O O(10%)
gbobooogdobb.bog,gobbooobbuooboboboob,bbuoobobod
0.000,Re=060000000,0000000000000000D000O,0
U000 Thean UO0OO0OOO0DOODO.

Tnean = L,
9 <t <10.

04110 QUOOODOOOOLOOO.0ODOO0, 00000000 Re, 000 QO
gboodb.04110000, Re=600000,00000000000000
ooboo,0boboobooobooo,0cobboobbobog,Q=10000000
O0000.000,000000000000D000 Ra=70000,Q0 10
gogobbo,ggobbbbbodoooobbbbbooo.bbbbbodugo
oooooobobooo,Uub0bo0ooboobooboboo,0b0obDOobDOobO
gogboooogbood.
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18

1 1 1
a 1888 2880 30008 4800
Ra

0 41.1: 000000 QUOOO.0000D0000 Re, 00O QUODO.OO
gooooooob,eb0oobooogobooobooboooooogon,
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4.2 SPMODELUOUOODOOOOOOO

gooouobbobobbbobibooooooboobo, bbb boooouooo
goooobobo.obboboboog,bbbboddoooooboboobobbooogo
goob.ogg,bugooooobboobobboouoooo,oooo.ougo
gligbboboogobobob.0bbbooooobobo,booooobbooo
0000000™.00,0000000,0000000000,0000000
gogobobbobboooooobobooboboo.obbbo,goobbobobbougd
gbo.0b0,bbooobbuooobobooob,bbuooobooobbooobobd
OO0SPMODELODODOODO.

goboo,0oboogoboobooooobn,

e JOODODO Ad=0.0b00,00000000D000O0O.

e OO, 0D000O0DLODLOOOO,00b0DLDOOOODLDDOO.

OoopDoon At=o0.0001 00,00000000000DOOO0DOOO
gogoo

gbooobd Pr=1,00000 Re=5000000.

goboo,0bbbugdg 3bboougoooboooon.

gob.gbo,goboboooooobog,

00000 Ad=0.000,00000 «000D00O0OO 40,z00000
ud 1 0ag.

gogbo,gbbobuogoo,ggooboogoboog.

O0000oOono At=o0.000100,0000000000O00O000DO00ODOO
gogoo

e UUDOUOD Pr=1,00000 Ra=5000000.

“00000D000000D.000000000D000.

e UOOODOODOOOODODOOO.

e 0D ODOODOOD,0DbO0ODOLODODDODOODO.
gbg,b0oabuoaboogboobgobgaood.
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e U0, 0000D0O0 30U00O0LOLDOOUOOODLDDOO.

O00.00,SPMODELOOOOOOODO,0000O0O0DOO0O00 20000000
O00000000000000000000D00 http://www.gfd-dennou.org/library /spmodel /2d-
channel-esc/boussinesq/sample-tt /f90 /bsncnv-tt-2.£000 0, 0 000000000

g, 0ogooooobooboobo.gouououogod.

e J0I0DOODND »00000D00 40,y00® 00000 15000.
e OUUOUDODDOOUO »x0D0U0UO0O 160,y DUOOOODDO 20000.

e OUOUODLODOOOODLDDLDOUOOODLDDLODDOOOODLDLDDOO.

OO00000obO0oooooooooooooooooOo, SPMODEL ODODO
gboobgoobgoobobb 421 000.0000 ¢t=060000000.

“000D000000000000 00000,SPMODEL 0000000000000 Y
gbogobdg.bgg,ggbuooboobobboboobooboobo,uoboan.
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temperature

&
S -
cosoor
fenme
—coordinate

o
s
o
@
IS
a
@
~
@

4
B s
opgoo~
ERAN
—coordinate

o
-
o
@
»
o
o
~
©

r4
E -
cosasr
fenmes
—coordinate

B
£
n
w
a
@
@
~
)

z
B 8
epzsor
on
—coordinate

@
-
~
M
I
a
S
~
@

¥

.
= s
B
o é
o
X -
| I
a -
£
-
@
opgpon
AN
—coordinate

Y.

&

S -
B H
&

» E

. H

| I

@

S

] ‘

@

opsoor
PR

—coordinate

coomoe
fontntn

Y—coordinate

1
[}
] 1 2 3 4 5 6 7 8
¥

X—coordinate

ol 0.2 0.4 0.8 0.8 1

0 421: 00000 ¢t=0,0.1,0.2,03,04,05, 06 0000.00000000
0000000000000,00 SPMODELOOODOOODOOODOOOO.

goooboobobobooo,bobobbooboboboobobobob.0o
g, gggobbobog,oLtLliuguooooog,buoooonoobodao
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0000.00000000000000000¢t00D00000000 Toyma(t),

SPMODEL 0000000 ¢t0000000000 Tyume() OO,00000

O™

Torm,n(t)_TSPmﬂ(t)
Tpmn(t)

O0o00o00oo0o0.00,0000000 |dy,(t))000D0D0OO000O0O0O0OO

000.000000 Dyyoooo,

piy =4 fS}d}”’ﬁ)'dS _ %Z (dyn(8)] (4.2.2)

Amn(t) = (4.2.1)

o0ooo0.000,s000oo, NooOooooooo. b Dooooood
OO0,00¢«+000000000D0000DO0O0O0ODO SPMODELOOODOOO
ggbobooooobo.

8.825 T T T T

8,815

114 3

8,889

0422 00000 Re=50000000,00000<Lt<L10000,0000
obooboboogoog SPMODEL ODDUODOODOOD.ODO0+0000,000
00000000 D ooooooooo.

“0pD00,2000000000000000000000000.000000 110000
gog.
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O00,Re=5000000000000<t<100 D)O t=01000
O0000.000000422000.000,00000 ¢, 000 D(tx)00OO
00.042200,D0000<¢t<100000000,0000 O(107%) 0O
go,0bo0bbooboboobooobooobo.b0bo,pbgoboon
go,o0<t<o0200000,00000000000D0,02<t<04,000
god<t<Lo40pnooonooooooooooboobooo.bbo,t=04
gogououoobb,guobobbbobbibododoooouoobbobbb. oodoo
o<¢+<L100bobobboogoobobbuooobbb =040 0 20000,
gobooo.

042200000000000000000. Re=5000000,00000
000000 02<t<04000%,0000000 pOO0OOOOOOOOO
gbooo.oboobbooboobbooboobbooboob,bbon
gooobuoobgooog.

e JOUO0OODLODOOUOOOLODLDOOOUODLODOOOO.

e 000000,
n= V3

0D000,SPMODEL 0000000000000000000000.0

0,00000000000000000000,000000000000

00000*00000000.00,00000000000000000

gbobuogbbogo,gbbuobbugbbuoob.bboobbuoaoo
gobo,gbboooooooog.

000000 421000000000.02<t<040,0000000,00000000
ooooboooooooo.
00000D000000000 10000000.
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4.3 U0O00O0OO0OO0OOO0OOO0OOO0OO0OO0O0OO

ggobbobbodoooogobbobbodooooobb.ooon,o
gbogoboobodbooboobboob,oobooboobooobobo.
gogbbobuoog,ooobbbouooobbboooobbobooon.

gogbbbuoooobbouoooobboooobboog,

on oOYon OYon oT 9

O  won ooy _ ., 5 0T 4 131
ot T 9z 0r 91 0- rlag -+ PV, (4.3.1a)
oT O0poT owor oy _,

ot Y or0r T aro: oV D (4.3.1b)
n=V* (4.3.1c)

000.0000000000 (43.1b)0000,0000000000D00CDOO
gooobo,00bgobooboboobo,obobobooobob.bobobon
gbogoobooboobbuoobgoboooboobobo.booboo,on
goooob,0oobooboobobooboobobo,boopbobooboon.
gboo,boobgooboobboobooboobbooboobb.bbon
gbooobgoob,0obooboobgn

_9Y

ox
ogoooo,ooodod (4.3.1b)DDDDD QULO0O0D00O00O00OOOoOg.
p(w) 000000000000,

w = (4.3.2)

O(w) =

1 w>0000
{ (133

0 w<0OODO

O000000oo,0o00000 (4.3.1b) O,

or  oyor OYoT oy _ o
ot Yo or aror Ton v L T@W) (4.3.4)

gao.
gobobooooboboo, oo, bbb w>000b0b0booobbod

goboo,buggbbboogbobbuoogbbooo.gbb,bboooobbd
gogboobuoogo,goboboboooobobobuoooob.

e JOUOOODDOOOODLDDLD,DLOOUOOOODDO.
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e OO UOOOOODLDLODLDOOOO,ODDLOUOOO0ODLDLOLDDOOOOOO0
go.

ooooo,

00000 Ad=0.0500,000000000D0000.

gobo,gbbobuooogboob,bbbooogbbobogod.

O00oDooOon0O At=o0.000100,00000000000DOOODOOO
gooo

gbooobd Pr=1,00000 Re=5000000.

O00000b0O0Db «wO00O0O0OD0, 0000000000 OODOO.

e JO00ODODO,Q=100000000.

goboo,0bbugo 3bbboooooboboooon.

goo.
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Q=100000000000D00O000O0.OD00, 000 Q=100000
gogoobob,gobobbobbodgooobbbobbboogoooonobD.g
b ¢t=050000000.

speomn
B

ure
1 1 1
0.8
8.6
N a4 B
a.2
[ 8 ]
0 1 2 3 a 5 6 7 8
X

oooooR
hamm

spossn
R

ooomoR
Mamn

Tenperature
1 1 1 1
8.8 0.8
8.6 i 0.6
N W] [ . a.d
8.2 5 0.2
[] ) ] [
] 1 2 3 4 5 5 7 8 [ 1 2 3 4 5 5 7 8
4 ®
Tenperature
1 1
* 5.5 - 0.8
N 8.6 N | 8.6
6.4 8.4
8.2 " 8.2
L} a L 8
[} 1 2 3 a 5 6 7 8 L 1 2 3 4 3 6 7 8
X ®

0431 000000000 Q=10000000, 000000000000
gbooobooooooobob.obo,000b0d t=0,0.1,0.2,0.3,04, 0.5 0
goog.
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Q=100000000000,Q=0,000000000000000000,
000" 00000000000000000,000000000.00,Q=1
0000000,00000000000000,00000000000000
ooooooo.

gbo,0432000000000000000000000D0O0ODOODO
ooooooobo,04330 Q=10000000000000DO0O00OD.0OO
0,00000000000000000000000™00000,Q=000
Oobob4340,Q=1000000435000.000,000000000
oooooopboboo t=1,Q=10000000 t=050000000.

“0000,0000000000000000000000.0000,000 0500000
gooodo,os5000000000000000O0000,043.1 0000000000000
00,00000000000ggggo.oooo,=000000,000000000000
o000000oo0oo0o0o0000,00000opooooo0,=200000,0000000
ooooboo,00ocoooo.

“0000000000000000000000000 90000000.
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E_

©00|©00E) -

a 1 2 3 4 H [ ¥ i

0432 0000000000000 000,000 @=0000000 t=1
gogoob.0boooobboogoooboobog.

B —

=12

000I©OBYOKY -

a 1 2 3 4 5 B 7 8

H

0433 0000000000D0O0O0.OO00,0000Q=10000001t=0.5
gogoob.0boooobbobooooooboobog.
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0 4.3.4:

38

Ra5688 ——

25

28

15

Psi{n}

18 -

Q=000000000D00DO0OOOO0OOODOODODObDO.

38

Ra5068-01 ——

25 -

28 -

15

Psi{n}

18 -

0435 Q=10000000000000000000D0ODODOO.
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b 4000000000000 00,0b00bO0o0bOobObO.

e JO00ID00ODOOODODOUDODODLD.DODOOODODODOOOD, QDO
gobbbooodobbboodad.

e HOUUOOOOODLDODLDOOOOO,bDOUOOO0O0DLDODDLODOOOOOOd
o000, 0000b0b0 Q=10000000.

gob20000b000,0bbgobooobuoobboboobobuoobba
gogobboobooa.obobboog,bbbbouoooobboboooooon
g, gggobobodooooobbooooobobooooboooo.
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st o

gbobood,20b000bobbooobbooodgbbooobbooobobo
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// oy yony // 9 9 12_3_7?&12 ded
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1000 0bboo.gg,ggbbooooobooobbooooobooon,

172) dxdz
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- nm,nnm+1,n¢m,n71 + nm,nnmfl,nwm,nfl
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ooo0o0oo0oooooo.0oooo,JMo J¥pooooo0oo0oo0oo0ooooon
0o0oo0,00,J/8 00000000000000000O0.

00,0000000000 (g26)0000000000000,0000.0
00,00000000000000000.000,0000000000000
oooo,JM o J8looooooooooooooon,JAoooooooon
oooo.

0000000,00000000,0000000000000000000
00000 (g26), 000,

ooy oy 1
Ea_z _ 8_9:8_’2' = S (/1 4 ¥ 4 ) (2:32)

gooo.

gogob,gggobbbobbbouooogobboboob,obbbbbodadd
gogbooob,0boooobooboooob.gobbobooooboobog,

O OT 9T B

oY oT oY oT
//¢ (af)_x — a—{p&) drdz =0 (g.33b)

000000000,00000000000%000000000000000
0.000,000000000000000000,7p0 7000000000
0o000,00,000000,

n= vV (g-34)

“000000,00000000000000000000000000.
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gboboogobboogbb,bogbboodobboodobbuooo.obo,d
gogboooggbood.

gobbobuogobbboooobooa,boooobboooobn.
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8oy

gobbobooobbbuoooobboboodb,

e J00DDDODOODODDOOOO,
n=v=20
ooo.
e 00D TOOODODOOOODDD 10000
T =0.01
00D0D0000D0,0000000000,
T=0

goo.

000.0000,(h2)000000000000DODOOO0OOOOODODO.O0O,
gobog,ggbobodobbo,ooobbooobboobobo,boobbod

gogooooooo,

(h.4)

goboogo,gbboobobooodbbuogooboooobboooob.boa,d
gbogbobobb,ggobubobboboboob.ooboobobobbobg

gogoob.0booooboob,gogbboboooooboon,

on  OYon Oon o1’ 9
0t T zor  owo.  [rRags PV,
o 00OT VO 0 _

ot "9z 0r  0r 9.  on
0oo.
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00000 (h4) 0000000000, 00000000000,v9,n,TOO
0000 000000, (hba)0000,000000,000 1000 0000.

ooo,
on
ot

DDD,UDDDDDDDD.(h.5b)DDDDDDDDDDDD,

0 (h.6)

or

ot
000,700000000.000,00000 (h4)000ODDD0OO0,00
Oooooooooooo.

0 (h.7)

00,00000 (h),(h2), (h3)000000000, (hba)0000000
0,000000000,0001000,000000000000000000
00,0000000000000000400000000000.000,70
000000.00, (hsb)0000D,0000000000 00000,000
000000000004000000 00000,70000000.000,
0000000000000,00000000000000000000000,
0oo0o0oo0oooo.

gb20000000000b0000b00bo0o0. 1obooboobb,bo
gogobobooboo.0bbbboooooobboboboooogooo,buogd
goob,ggooobbbbbugooobobb.oooobbbbboooadd
goob.ogggobbobboooooobboobboag,bbbougd
gogobb.ooo,gooooobbbbbooooa,bodag,bbodadgad
goobobb.ogbo,goooobobob.oobbooboboo,bbobbbodadgd
ggbbbooo.ooobbobooa,bboooobbbood,

obooboobobobobooobooboo,rbobobooooooo,ng W@
gobboooooon.

goouoobbboooooooooouoobobbbooooobugdad
go.

gobbooogoobbo,bbboooobobod.

gboobbod +o001oobboobo.ob,bogbbobbooon
00000000 o(10H)Y0ooOoo0oO0oo0DO00DO00D0o0D0oDOoooooo
goo.
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000.1000000000000,00 v 000000000000, 70 ¢
oo,
n =V (h-8)

goodogoooo, oo pnboboooouoouooogo
g, 7oodbuooboobgbbob,boobooboboo.

0000000,00000000000000 (k1), (h2), (h3)00000
ooo.
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ooy

gbogboobo,gboobobobo,ugboobboboboob,oobobg,
gobobooobbuooobooobbuoobobboooboo,obboooobooba
ggbbobuogo.ooob,gobbobbuoogbobboaod.

gbbogboboogboboobbuodobboa,gobbuoobobbooobod
gobood,0dbbogdbobodg 1oobd,0gdb «000000b0ood
00000 ¢(x)00000000,000 000000000000000O
gogboo,0bobooogooog.

0ilbidd,2000 —-L<z<L0O00O0 N+1OOOOOODODO.

;00
|

f
—L xr; = jAx L

0il00 -L<x <L 00000000000

000000 AzDO0O0O,
2L = NAz (i.1)

000000oooooD.oooD,y(x)0 2 000000000,00000 2L0
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00.0000,¢(x)000000000000 ¥(p)OOOO,

U(n) = / Y(x)(cos kyx + isin k,z)dx

/ ¢ —zknmdl,

A Z Azi(j)exp (—zNA/Qij)

_ % JZO ¥(j)exp <—2"]$ij> (i.2)

000.000,k 00000,

kp = — (i.3)

gbobogdobbuoobo.oboog,gbbuogobobo,ooobbuoobobod
gboboboobooooo,bobobooooobrFrroooo.obo,0ooon
gooooIiprFrrooogoog,

W(x) = /_Z U (n)e™dn

N/2

= 3 Umew <2”]7V”j> (1.4)

n=—N/2

000.000,¢@x) 0,n0000,-N/200 N/20000000000.0
0 N/2,—-N/200000, Nyquist 1003 00000.

gbo,0ogbobodbbogobuogbbooboobboobog.o0<z<s
goboobooobo,oboobuoobooboboboob,bo 20,

2L =8 (i.5)

000.00 00 0000000000 DOOOO () 000.0000,40
ilbdboobo,0db,z=00000000000000000O00O000O0ODO
O00.¢(j)DOODOODODO0DO0DO0OOOO,

W) = 5 3 vtiyesn (257 (1.6)

SO00D0000000000000,00000000000000000000000000.
00000000000 N+100000,Nyquist 00000,n 00000 —N/200 N/2
ooooboooooboo,0b N+10OO00OO0O0O0OODbOO0ObO0OO0oobOoD.
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000.00000000 ¥(»)0,000000.000000000000,0
00000000000000000,¥(»)0000000000000. ¥(n)
00000 200,

U (n)[* = ¥ (n)¥* (n) (i.7)

0000.000,000000000000000000.0000000000
00000000000000000000,|¥()|0 20000000100
0000000000, |¥(p) 000000000000, : 000000000
00 M+100,000000 AyOO0OO,

1= MAy (i.8)

0000000000.0000, [¥(n)| 000 |¥(n)|o,

bl = [ WP [ ds= 575 3 ) (.9)

k=

gao.

00,Re=7000000 t=3000000000000000000000
00.00000,,000,|9@))*00000000000i2000

000,n=3000 [¥[' 000 »000000000000000000,0
0000 (L3)0000,

3T .
k?g = Z (110)
000000000.000,00000000000 Apa 0.
9
Aoy = 8~ 2.67 (i.11)
ks

gogog.
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"IFuur'ier'.dalt" —

8.23

8.15

Pei {n}

Ui2: Re=70000000000¢t=30000000.000 », 000 |\i1(n)

gogobbob.odd,n=3000 \\TJ|2DDDDDDDDDDDDDDDDD
go.

2
|
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Jui1otdootdoooddn

n=1000000000 ReODODOOOOO NODODOOOOOOO,

2 /N +72Y°  A2pd /4 3 ,
S (75 S <—2+1> (i.1)
(2m/A) 4\ A
000.Re0 y0OO,A0 z0000000,
27t (4 3
_ 4y i 9
V= <x2+) (j-2)
000. Re=70000000000 AODOODODO,y=f(z)00,
27t [ 4 3
_ 2 41) —700=0 i3
fo) = (5 1) (0.3

000000000, 0000000. f(x)D00000OOO0OO,000000
goobobbobbobodooo.boo,bbbbbouoooobbbboood
O Newton RaphsonD OO OO OO00OOO0OOODOOOOODOO.

oo, 0goouoooodooobooooon.oooooood y:f(x)D
Ub,z0y0o0o0o0nooooo, 0 1gdooooooog. ogo f(x)zo
gooouooodo.ood,00000000,0000 2o 000.29 00O
Ooddodd. z=2 0000000000001 00000000000
O (:Uo,f(xo))DDD.DDDDDDDDDDDDj.lDDDDDDD,DDDDD
000000000 (Jil,O)DDD.DDDD,
f (o)

To — 1

f(wo) = (j4)

gbgobgooobob,boobdgf o, 4,

f (o) .
_ j-D
0 f’(ﬂﬁo) ( )
oood. ;0 zoO0OO f(m):()DDDDDDDDD.DDDDDDDDDD
o0, 00 2o 0000,

r1 =2

f(ml)
f'(x1)

(j.6)

To = T1 —
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y=fi{x}

¥-AXIS

Ha b § Ha

A=AXIS

Ul gbogbuoggbogbbogboobab,bodboobbodgboo.

gbbod n00o0o0gboboobob,bnb0 2, 000000000,0 n+1

00 2, O,

— f(@n) .
Tpi1l = Tp o) (j.7)

Jdd0.000d0dddd0dd0ddd0d0oooooooL0.000o00oOog 0O
ooooo, -, 00000000000.000,00000000000000
goooooboooon,», 0 2z, OO00O0DOO0OODOOODOOODOOOO
o, 00o0ooo.ooo,

[Tpi1 —xn| =€ (3-8)

oooooooood, s, 00000000.000,s0000000007™.
gbog,gbbooboobgoobgoooboobon.

y=f(x)0 2000000000000,00000000.000,0000
ro UOODDOODOO,00000000000000.000000000,00

“0p0oD000,e000 00001 000.000000000000000,000000000
u.
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002000 y=g(z)000000. g(x)=0000 200000, ¢(x)000
0000000 2000 20y, 000.0000,20000 100200000
T <Tmn 0000,00 1002, 00000 24 >z, 0000.00 2000
000,0000 20 20 < 2w 00000,00 2. 0000000, 20 >
00000,00 -, 0000000.000,0000000000000000
00,00000000000000000000000.

O00ooooooooooooo,00n0 3)0oooooo.ocooooao,
0000 y=f(x) 0000000000 ,0j;2000000.

Rayleigh curve
a8 T T T

unstable

T 7ae

697.5

608 1 1 1

0j20000b0000boobooooob.oob0 yoooobobooooo.
ooo,000000000,000 Re=v70000000.

0j200,000 2000000,

2<r<2b5,3<zr<4 (j.9)
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0000000000000%.000,2000000000,0000,
x=24,35 (j.10)
00000.00,0000000000000

— f(xn) .
T+l = Tn () (j-11)

000 f'(z,) DO0OD0OOOOO,200000000000000000.000,

) = flzn, + A:C)Q;xf(xn — Azx) (1.12)

OO00oO0.000,00000D00,Az=0.00001 000.00,2000000
gono.

Tn = 2.28729838, 3.5344399 (j.13)
oo00,0000000 Re=70000000 X0O000,

A=229--- 353 (j.14)

goooo.

*5DDDDDDDDD,f(x)DDDDDDD r=283--- 000000O0000O0O0OOO0OO
gboogogan.
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J1nguooogduood

gogbbobuooobobbooooboob,bboooobbbo 20000,

ooogo,0000 20000 e, bO0000O0.O00,c0000000O,00
gbooobo.oboog,0bgn da O,

dy=a—b (k.1)

00000,0000 dg O,
a—>

b
gogbobobo.obouoooobboba,bbd 2000000000000000
gogoob.0booo,ggobobooogboobooa.

dy = (k.2)

a, b,
a = 10001, b = 10000 (k.3)

OD000000,0000 dy, 0000 dg O,
dy = 1, dr = 0.0001 (k.4)

000.00,a,b0,
a=2,b=1 (k.5)

0000000,0000 dy, 0000 dg O,
dy=1,dg =1 (k.6)

gob.coggbboooboo,gobbuooobobo,oobbuooooboa
g, ggdgobbobuooogb.oob,gbbbbdoog,gog 1o0bobodao
gobo,b00gwogobo,ggbbooobooobuoobboboo.obobo
ggb,gbbobuoogoboo,bbuogbobbboooobbboooob.

oboobooboob,10o0bo0obo0oboboobo.bob,0ob0 0 0o0bOD
gbodod.s=0000,0000 dqg OO0, 00000000O0DO0ODOO
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gogbobobb.oouggdg,bbbb obbbbb,00od0o000o0ooooo
go.

00000,42000000000000000000000 SPMODEL O
000000000000,00000000.000,0000000000 b0
000 SPMODELOO0OO0O0O0OOO.O0,0000000000000000
000,00000000-,=10000000000 000000000007
. 000,000000000000000000000078.

000000000 T,,0,000000 Tem, 00000 T,,0000,

Tonn = Teman + T
gooo.0o0,0b00db0bo0booob0boooboboooo.0oo0bo,o0bog 1g 4d
Tg=1—2
gooooboo,0000dbbbn 2=1000 z=0000000000,0000 T,/n’nEl7
T =0
ooooooooo,000 T, 0000000000000000,

0< Thp <1

oo0o.0b00,000000b0000c obcoboOobooooonn.

00000 »=10000000000000000000000000,00000 000
a.

“000000000000,00,000000000000000.00000,000 30
goooboooobobobo ooooobOobooon.
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